| dE/dx estimator 1 |

0.25~

0.2~

0.15

0.1

0.05

I T[rTrrr[rrrs

T T T T Entries
- : : : Mean
Std Dev

Entries
: : : Mean
u : : : Std Dev

or

S T S S S B T

| dE/dx estimator 2 |

0.3

0.25

0.2

0.15

0.1

0.05

I T[rrrr[rrrs L I

4725
2.866
1.051

T T T T Entries
= : : : Mean
Std Dev

8127
3.068
1.461

Entries
Mean
Std Dev

...................................................

...............

t

0 + ..... e
Lo

or

' 1 Fa 3 4 5 6 77789 10

—=— DQM_DisplacedSUSY__mkFit_

— DQM DlsplacedSUSY mkFit_ BDT_

CTTITeS FTZT

- | Mean
: |_Std Dev

7.468

¢ | Entries
‘| Mean

i [ Std Dev

.....................................................................
............................................................

....................................................

..................................................

30 40 50 60 70 80

0.6f
0.5}
0.4

0.3k

g ===

0.2p

T~T-TT

0.1

CTTaTeS
i [ Mean
: |_Std Dev

| Entries
¢ | Mean
..| Std Dev

.....................................................................

10
1
0.8

GASLE SR A S e e i i

TF
-

0.6f

L

0

10 20 30 40



	Contents
	Page 1


